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Geometry Mixed Review 2015
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1.) The area of the rectangle at right is [image: ] square cm. Use this information to write an equation and solve for x.
 
[image: ]
2.) The perimeter of the triangle at right is 23 cm.  
a.        Write an equation and solve for x.
b.        What are the lengths of the sides of the triangle?
c.        What kind of triangle is this? Explain. 


[image: ]
3.) Calculate the value of x. 




4.) Calculate x. You must include the steps in your solution and explain or show why you do each step.
[image: ]
 


5.) Find the area of each of these figures.
a.                                                        b.                                 
[image: ]                [image: ]
c.
[image: ]
6.) Calculate x. You must include the steps in your solution and explain or show why you do each step.
[image: ]


7.) Calculate x. You must include the steps in your solution and explain or show why you do each step.
[image: ]
 


8.) Find the area of each of the shaded figures. Show all sub problems and/or dissections. 
a.                                        b.                                        c.
[bookmark: _GoBack][image: ]
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9.) This next problem can be tricky for some. You do not need to know anything about similar triangles to do this problem if you use the hint. 
Find the value of x in the triangle to the right.
(Hint: Find the area of the triangle to start)



10.) Solve for x in each of these figures.
	a.                         
[image: ]





	[image: ]b. A square with an area of 1487 sq. cm.                

	c. A rectangle with a perimeter of 84 inches.
[image: ]



[image: ]
11.) a.         Graph each equation by the method of your choice:
                 [image: ]
b.         Find the area of the triangle formed by the two lines and the x-axis.
 


[image: ]12.) Martha says this must be a right triangle. George says she can’t know that for sure; she shouldn’t trust that the drawing is drawn correctly. Who is correct? Explain.
 

13.) Find the maximum and minimum values for x.
[image: ]        
14.) Solve the system.
y = x + 2
y = 2x + 1
 

15.) Solve the equation for x : 5 – 2(x –5) + 6 = 3 + 4(6 – x)
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